
EqnPout=0.5*real((vout)*conj(HB.iout.i[0])) Eqnvout=v2[0]-v1[0]

EqnPin=0.5*real((vin[1])*conj(HB.iin.i[1])) EqnEff=100*mag(Pout/Pin)
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-1.0E-300

1.0

0.00000

0.00002

0.00004

0.00006

0.00008

-0.00002

0.00010

P
in

m3

P
o

u
t

m1

m3
indep(m3)=
Pin=10.000E-5

0

m1
indep(m1)=
Pout=-1.902E-5

0

Both power is in Watt NOT dBm
Attention Carrier Indexes !!

Efficiency is defined as percentage.

This confirms the Input Power is equal to Pavs from the Source
thanks to almost perfect matching
Pin=Pavs


